Using only three 200 watt resistors to create 2,4,8, 16 ohm, 400 watt loods

2 UOhms, Total Power =

28.28VRMS <v g W %m %A

8 UOhms, Total Power

4 Ohms, Total Power =

400 watts

400 watts

Total R =
1/¢1/8+1/8+1/4> = 2
ohms, each 8 ohm R
gets 100 watts, the 4
ohm R gets 200W

40VRMS 8 8 P=V*%2/R = 40%%2/8
= 200 watts each

400 watts

16 Ohms, Total Power = 400 watts
56.57 VRMS 8 8 P=VXxx%2/R = 28.285%%2/4 8 P=Vx%2/R = 40%%2/8
= 200 watts = 200 watts
80VRMS
8 P=Vxx%2/R = 40%x%2/8
4 MW P=V*x%2/R = 28.285%x2/4 = 200 watts
= 200 watts
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